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NOTE: Write answers to the questions on objective answer sheet provided. four possible answers AB,C & D to each question are give. which answer
you consider correct, fill the corresponding circle A,B,C or D given in front of each question with marker or pen ink on the answer sheet provided.

1.1 fvt}]ll:l;bnum level of national income is attained ata point g A0l "5’ 5 ;«J d W85 11
(A) Saving = investment Uy =f (B) Consumption = saving o ef =i
(C) Consumption = investment ¥yl =3 (D) Income =saving + investment -($ubr+ef = (a7
2. That money whose face value is equal to intrinsic value is called: i :?rku{ ,f‘,,;,,_-.gu}?’ iy J Sk 2
(A) Tokenmoney Ll (B) 'Stala’;g;cl’hmoney D e
(C) Papermoney LSk (D) Creditmoney A%
3. A firm earns in long run under perfect competition: :f_Ju’ AR L ,{.DJ{ 3
(A) Normal profit ™ (B) Abnormal profit O™ 4
(C) Loss o> (D) Abnormal loss Yl F
4. The tax imposed on imports and exports is called: i @.l‘:ﬂ;v( Jg 4:.!,«7/,::;’»7/) 4
(A) Salestax <k ®B) Incometax - Lfg ‘f,
(©) Custom duty J,gﬁr'/ (D) Central excise duty dyAbiJ 5
5. Atboom period the state of income and/eriiployment is: LK )w;lG;,TJdeA}I_.rf 5
(A) Maximum ;_L}nh‘é (B) Minimum “-._J.n}'{
(C) Rising &0 (D) Declining g_&f '
6. The theory of absolute advantages presented by: ; 4 gB:; /" ¥554J%. =TI 6
(A) Marshall LJ’ A (B) Ricardo &, (C) Keynes A (D) Adam Smith L&~ 4
7. The rate of Zakat s : &, o wesliLS
A) 2% 4 B) 25% s © 3% wdef D) 3.5% AL
8. The purchasing power of money is called : :4.8!1{ e "d, s .8
(A) Value of money Py ®) Quantity of money ».j A4+
(C) Instrumentof money ,JT (D) Creditmoney ‘ pRre
9." According to Adam Smith, Economics is a science of : _ :q__H‘ 2Ol L5 12’ 9
(A) Time K< ®) Action ©) (O Wealth K=l (D) Value ¥4
10. When total utility starts declining, then marginal utility is: :q_fnv:ﬁlf‘?;q.,rf uGlJ?e .10
(A) Negative (¢ (B) Positive =t (C) Zero (D) Infinite 14U
11, :}f‘”:lrxleeilt;::ie;st; ‘i)r;g:;emilsdli(;% and decrease in demand is15%, -Jn»QJJ?MJJJw%:_JUI10%4,;:.:»32_/1 11
(A) Equal to unity AL 36 (B) More than unity ke ¥
(C) Less than unity |f =J¢ (D) Inelastic A ;.g re
12. :;:;x:bt:‘e; xps ::::Vli:;:crease in demand and supply then " GM--«-----::‘EUJIP?'MJBI/J/. B 12
(A) Increase . Cowls (B) Decrease
(C) Becomes zero q_f}t_m  # (D) Donot change NP0
13, ::‘}:;: cat\;::'age product starts declining, then marglixal . (}n/w&f#iq. ‘3 5! bachslez 13
(A) Remains equal to AR c".&”u.l/.ﬁzbb_«,gkr:’ . (B) Lessthen average product q_(,?'JH' ol sz hast
(C) Becomeszero ‘a.Jkn ol (D) Rises «@%
14. Therent ofbuilding is called: :g.t'l}f ,:l/ ke f .14
(A) Averagecost iAot bl (B) Marginal cost .J/wf?
(C) Fixedeost  Idwrsws - (D) Variablecost wider ™
15. Demand for factors of production is: ;€_J S Pt 15
(A) Positive =t (B) Negative (¢ (C) Direct erinl; (D) Derived 5l
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9. Trace out the causes of disequilibrium in balance of payment of Ry A S Lo’ § b s 9

a country. ’ Ia/é’— N
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Principles of Economics

Marks:60 Time: 2:10 Hours
Section-I

i

Write short Answers of any six parts from the following:

Why human wants are unlimited?
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2x6=12

Write the definition of Economics presented by Alfard Marshall.

What is meant by marginal utility? - .
What is meant by law of equal marginal utility?
Write four factors / causes of change in demand.
What is meant by Point Elasticity of demand?
Explain the difference between stock and supply.
What is meant by Reserve Price?

How market equilibrium is determined?

Write short Answers of any six parts from the following:

Define law of increasing returns.
Describe large scale production.
Explain total revenue.

Define monopoly.

State the abnormal profit.

What is meant by equilibrium?

What is meant by dumping?

Why slope of demand curve under perfect competition is zero?

Differentiate between wealth and capital.

Write short Answers of any six parts from the following:

Write definition of personal income.
Explain about corporate income tax.

Define money.

What is meant by direct exchange or barter system?
Writé the equation of Quantity theory of Money.
What is meant by paper money?

Define national or domestic trade.

Write definition of imports.

Define direct tax.

Section-II

8x3=24

Note: Answer any three questions from the following.
Explain Law of Diminishing Marginal Utility with the help of

5.

table and diagram.

Explain market equilibrium with the help of table and diagram.
Explain any two types of equilibrium conditions of aperfectly

competitive firm, in short run.

Define money and explain its various kinds.

Trace out the causes of disequilibrium in balance of payment of

a country.
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